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Note : Attempt all questions.
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Graph paper is required.

qrr=q fAder s (i) FAFAR F wAM I IR T &

General Instructions : Use of calculator is not permitted.

yva-1  (@Ue-3r) Wel faweq g fafau :

(Part-A) Choose and write the correct option :

(1) Aex:5:9:15 8 MxFMAAR :
(37) 3
(a) 4
(q) 5
(?) 6
If x:5::9: 15, then the value of x 15 :
(@) 3
(b) 4
() 5
(d) 6
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l (ii) .qﬁ-’;:;?’m}’*_;{)t,ﬁm7x+4y=pﬁpﬂﬂﬁm'-:"'
(e 17 ; (@ -17 -
() 21 | () -21
If x =3 and y = 0, then the value of p in the equation
7x +4y =p will be :
(@) 17 - b -17
(c) 21 (d -21

o \2
(iii) (cosZZ ) FAAR :

2sin 68°
(9 22 (%) 68
| 1
(J) 3 (D) 2

(iv) Wmﬁﬁam@mﬁsﬂé,ﬁmmaﬁw%;
(37 180° () 360°

(g) 115° (3) 65°

In a cyclic quadrilateral one angle is 65° then its opposite

angle 1s
(a) 180° (b) 360°
(¢) 115° (d) 65°
S2-B+ PT.0.
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) - e - g - W R €7

(2 (0,2) (@ 20
(M (-2,3) (3 (-2,-3)
Which of the following points lies on the y-axis?
(@) (0,2) (b) (2,0
© (2,3) @ (2,-3)
-1 (Toe-w) fiea el @ g Fife [1x5=5]
(Part-B) Fill in the blanks :

() T sin(90° — 60°) = cosd &, A 6 T A —— R 1

If sin(90° — 60°) = cos0, then the value of 0 is :

(i) afz fFst TR AR w1 pal @ T, = S5n - 1 &, W 58 W H
qH —— R

If the nth term of an arithmetic series is T, = 5n — 1, then the
value of 5th term is .

(iif) 18 T & anfanfis it v —— ¥

The number of half year in 18 months is
(iv) AR F o 3 A, B, e g ok i e — %
If side of a cube is 3 cm, then length of the face diagonal is .

(v) feg e fas § x F AR —— ¢

S2-B+
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-1 (Eve-|) T v o farae :

(Part-C) Write True or False :

() Tt s @ e fAREd st ¥ fore S €
The Recurring Deposit Account is for a fixed period.
(i) AR = G — T x AT

Remainder = Dividend — Divisor x Quotient

(i) < Tt (0, 0) 3R (6, 8) F o a HI g 14 ¥

Distance between two points (0, 0) and (6, 8) is 14.

(iv) tan 0° HIHFA | T
The value of tan 0° is 1.

(v) & gua A § Fw @, q9 Qe & o A &
T ETI £ |
The square of hypotenuse of a right-angled triangle is equal to

sum of squares of other remaining two sides.

S2-B+
P.T.O.
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Uy -8

- [6)
3x+6%,€tp(0)amp(—2)aﬂqﬁsrraaﬁm|

af 7T plx) =¥~
3x + 6, then find the value of p(0)

If the polynomial px) = X2 -
and p(-2).

HH J@ T

2¢c0s67°
sin 23°

+4cotd5°

Find the value of :

2¢c0s67°
sin 23°

+4cotd5°

9,7,4,6,5, 8,33ﬂ16$ra§aﬂ?maﬁﬁt{|
7.4,6,5,8,3and6.

fau gu aiiwsl 3, 6,

Find the mode of the given data 3,6,9,

3fe s Y fagalt A(-1, 3) 9 B, S)ﬂa‘mmﬁ?%, 3 39 @ H

waoTal 91 i |
If a line passes through the points A(-1, 3) and B(2, 8), then find the

slope of the line.

wﬁ@maﬁmﬁsﬁ.,ﬂg@wﬂﬁr.ﬂmmwﬁ. g, W
Y & ool & o 9 it

If the length is 5 cm, breadth is 10 cm and height is 10 cm of a

cuboid, then find the length of diagonal of the cuboid.
o T 3a2 + Sx + 1 = 0 1 fafeent [ HT

Find the discriminant of quadratic equation Ix2 + 5x+1=0.

of= @@t 6, 8, 15, p 34 F WA 10 %, 3t p 1 7H T HfSC

If the mean of numbers 6, 8, 15, p and 4 is 10, then find the value

of p.

(21

(2]

(2]

(2]

(2]

(3]

[3]
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> 'ﬁﬂ_g

st wiaT AR 7, 10, 13, 16,

Find the 12th term of an arithmetic series 7, 10, 13, 16, .......

[71]

......

gva-10 ofe T witEw & q@ (7+J§) af (T*ﬁ) ¥, @ i Tt Tm

-1

ue-12

Find the quadratic cquation whose roots are

fapt QToRt T SEEH A I :

FifAQ https://www.cgboardonline.com

(7+J§) and (7-\5).

Lpic i

0-10

10-20

20-30

30-40

40-50

gt

4

8

16

12

10

Find the mode of the following table :

Class Interval | _

10 | 10

-20

20-30

30-40

40-50

Frequency

8

16

12

10

‘OR
fr= QR &1 mifige Ja HifaC

=T

0-10

10-20

20-30

30-40

40-50

50-60

Lk L

13

20

12

10

Find the median of the following table :

Class Interval

0-10

10-20

20-30

30-40

40-50

50-60

Frequency

6

9

13

20

12

10

Ife T& qa F1 3rgad 3080 4 AW, ok T 20 ¥, }, @ ST

g F FHifa |

If the volume of a cylinder is 3080 cubic cm and height is 20 cm,

then find the diameter of the cylinder,

S2-B+
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- OR
uﬁfﬁémmmmeaﬁﬁtﬂ.tﬁﬁﬁwmiﬂﬂml

If the surface arca of sphere is 616 squarc ¢, then find the volume

of the sphere.

W13 g s f T fg @ gR R i T e sl e a0
Bt ¥ [4]

Prove that the lengths of tangents drawn from an external point to a

circle are equal.
Iregar
OR

freq Wi & fafae qu fag s
State and prove Thales theorem.

gvA-14 x A9 y H TH g §1 Hifag S g Plx, ), fargail 4(7, 1) 3R
B(3, 5) A T &

Find a relation between x and y, in which point P(x, ) 1s equidistant

from the points A(7, 1) and B(3, 5).
srerar
OR

gev 100 T T 10% e =1 6 A F: 1,2,3,4dd1 5 a4
% fere wmron =S fre wrem W wefa €

g (adu) 0 1 2 3 4 5 |
AU A (T W ) 0 10 20 30 40 50

G9g 9] YT 1S & 9149 AeiE Eireu |
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191]
The simple interests g principal Rs. 100 at the rate of 10% per

annum for |, 2,3, 4 and 5 ycars respectively are shown in the
following table .

Time (in year) 0 I 2 3 4

Simple interes (inRs) | o 10 20 30 40 30
———— St{in Rs,)

Draw a graph between time and simplc interest.

wi-15 @Wﬁwﬁmmmﬁs%aﬁmmaﬂﬂﬂZﬂ#m
40,000 ¥ 131 e 1 7 o 3 wa el vt W €,

A = Aifer wfera e 2 o)

A person opens Fixed Deposit Account in Bank. He deposited
Rs. 40,000 for 2 years at a rate of interest of 5%. If interest is
compounded annually, then how much money he will get at the time
of maturity?
ear
OR

A 7 9 & 300 % Wi # QA 2 9 % oy et AW @ we |

e S F1 2 6% A &, 7 2 7 Tvar T et v W B2

Amit opened a Recurring Deposit Account in Bank of

Rs. 300 per month for 2 years. If the rate of interest is 6% per

annum, then how much amount will he get after 2 years?
TW-16 & BT ABC % 9ftm 39 %1 w1 sifu , 88 BC = 7 3,
LB=70°T91 AB =5 T T 1 TN & we +fi fafan (5]

Construct the circumcircle of a triangle ABC in which BC =7 cm,

£B=70°and AB =5 cm. Write steps of construction also.

3ear
OR

SZ-B-{- PtTa 0;
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[10]
WﬁuaABC%m‘a;qaﬁmmﬁ“ﬁ AB=P |
1 ¥ w2 ) frfag - '

. _ =AC = 6 cm.
Construct incircle of a triangle ABC in which A5 BC
Write steps of construction also.
(6]

W-17 o it i

l+cosB
1-cos9

CﬁAC=6ﬁlﬁ‘

= cosecO+cotO

Prove that :

1+cosB
1-cos®

= cosecO +cot

rerar
OR
FHIH0 T HifAC

cosH cosH
. + - :4
1-sin® 1+sinB

Solve the equation :
cos N cos®
1-sin® 1+sin@

UvH-18 k¥ f5m um ¥ fou gt e ke -y =2 3t 6x - 2y =3 F—

() fgaEad;
(i) FEMEATE? [6]

For what value of k, system of equations kx — y = 2 and 6x — 2y =3

has—
(/) unique solution;

(if) no solution?
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HYar
OR

A a:b=c:d 7, T fag T s

a2 + !.'.‘,2 ac

B +d®  bd

If a: b= c:d, then prove that

2, 2
a +c¢ ac

B +d®  bd

https://'www.cgboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
I g 99d Sor 3R 10 sudr urd,
Payvtm or Google Pay &

https://www.cgboardonline.com



